Дано:                                                                             Решение:

m (СхНу) = 4,4г                             4,4г                                     6,72л                 7,2 г     
ρ (при н.у.) = 1,97 г/л                  СхНу      +    О2        =      х     СО2     +     у/2 Н2О

                                                       44г                                 х * 22,4л            9 у г

V(СО2) =  6,72л                         Вычисляем молярную массу:

 m (Н2О) =  7,2 г       М(СхНу) = Vm * ρ (при н.у.)  = 22,4л /моль *  1,97 г/л = 44г  

Найти  СхНу  - ?               Составляем пропорции и находим х и у:

                                     4,4г/44г = 6,72л /22,4л * х;  

                                       х = 44г * 6,72л / 4,4г * 22,4л = 3

                                      4,4г/44г = 7,2г * 9 у г;

                                       у = 44г * 7,2г / 4,4г * 9 г= 8

                                   Ответ: СхНу = С3 Н8 
